sIREs AMarF rqaeT va yidator afwe W= (FREs)
qYH Frafds qdiatm (2021- 2022)
gfaeeT wea 9 de-3

FETT-10 y- A1fora Y — 1 el 30 fAe qufieh-40

AT AET:-

oy wea rfAar &1

el Y el HEAT40F |

TAF 72T & fav 1 37 fAuiRa &1

T AF 1o & faT aR RAFeq Ru 71w § 598 @ v W) RAveq #1997 Afaw|
el 3T & FT FIS 37 1ET F1¢ AT |

1. 156 I AT IUTAEST & IUTTthel o TIH foIET SIT FehcT & -
(a) 2x2x2x3x5 (b) 2x2x3x3x5
(€) 2x2x2x3x7 (d) 2x2x3x13

2. 96 TAT 404 ST AGAH TATII 4 fSAT &1 96 TAT 404 T oTE[cT ATIIS

FT I ?

(a) 8667 (b) 2338
(c) 2298 (d) 9696

3.12,15 3R 21 FTLCM §:
(a) 421 (b) 420
(c) 180 (d) 280

4. TeATcH TISH quiten Toe=t H @ fohe & 7 8T &1 FehaT?
(a) 6g+1 (b) 6g+2
(c)6g+3 (d) 6g+5

5. G 9g9G x° — 5x + 6 % AR & -

(a) 1,-1 (b) 2,1
(c)2,3 (d) -2, -3

6. ?:Iﬁagtrcrxz + ax — b o Yedeh SR b AT AT 0 =2
(@)1 (b) -1

(c) b (d) 0




7. oY Ig9E p(x) o ToIT I el 7 &1 a1 & Tg9g o R[rarep! AT e &4 g

(a)o (b) 1
(c)2 (d)3
8 THIRIUT JIH arx + bry +¢,=0 TAT ax + by + = 0

ﬁ?ﬁ%{- 31/32 5 b1/b2 ETFn"\':l?:ﬁWUT?EIDﬂTEFI'

(a)3efacIa gt gram| (b) 37eTh gl B1T
(c) SPTS &l =TET I (d) &Y & graT
9. {@T3T 2x + 3y =531 4x + 6y = 15 & hdT gT 82
(a) JTEfacTa &eT g1 (b) 3T=¥eh gl E19T
(c) hTS BT 6T 819 (d) &Y EeT ram
1077 YWk HHARIOT JIA 31HIA 8, 3eToh G@RT ST [@TT
(a) FATCR GIaM (b) FTeh gl
(c) Ffc=aer graf (d) AT g
11. GHRIOT FH 5x - 3y = 8 R 3x + 2y =1 FT T FATE?
@x=1,y=-1 (b)yx=2, y=-2
(c)x=3,y=0 (d)x=-3,y=-1
12. 378 TIYOT Zoe Foraent F1S &l 78T BIelT HEelTel &
(a) FaTA (b) 3T
(c) FeTelr (d) $oTH @ I TeT
13. GHIETOT ZIA x +y = 7 A x -y = 1 HTEA &
@) (2,2) (b) (2,-1)
(c) (4,3) (d) 373 & I ET
14, AFATATET # 9 et gfaard FHOTE ?
@ (x+1)2=2(x-3) (b) (x +2)2=2x(x2-1)

() X2+ 3x+1=(x-2)2 (d) =9 ¥ =TT A5l



15. =t fyema g 3x° +kx -4= 0 o1 G Tet 4 B 1 k 199 2

(a)-11 (b) -12

(c) 13 (d) s & =g el
16.3% famma wieror e ge 2, - 2 &1, fFefafaa § @ 2-

(a) X’-2=0 (b)x*~4=0

(c) x*+2x—4 =0 (d) x*—2x +4 =0

17. STAETT HHIHTUT 4% + 4x + 1 = 0 o FeAlehl Tehicl FATGIaN ?
(a) ATEATAS 3R 3 THATA (b) IETTIH 3R TR
(c) FTeUfeh| (d) ST T IS =TT

18. fyorme Tt 2%° -4 X + 3 =0 1 ffarhert s 2m?

(2)3 (b) 8
(c)7 (d)-8
19. A2 fEma Tefiertor ax? — 4x + 1= 0% GAF qA &, A a=?
(a)3 (b) 8
(c)7 d)4

20, fiema wfiaRor X -3 + 2 =0 Tt 51

(@) 2,2 (b) 2,3
(c)3,0 (d) 1,2
21. AP:3/2,1/2,-1/2,-3/2,..cco... & foIT harer: TUA Ug a 3R
TS 3T d FATE?
(2)3/2,0 (b) 3/2,1
(c)3/2,-1 (d)-3/2,-1

22.A.P:10,7,4,.......... FT30d UG &:-
(a)-80 (b) -77

(c)77 ()97



23.A.P:5,7,9,11,........, T PlT ATUS 27 &?
@12 ar (b)8 ar
()7 ar @11 ar

24.A.P:8,3,-2,.....3 TAH 22 Y&T I 1T FAT &2

(2)-1113 (b) -1169
(c)-1089 (d)-979
25. HATT 33T arel SEIERECRIER B §, e SoTehl I 3T
(a) AT &F (b) 3T 8T
(c) ST & (d) 3T & I 7T

26.3—1’@%ﬁ'3ﬁAD= 1cm, DB = 1.5 cm, AE =2 cm T2T
EC=4cmardl Rra A T Rlaarsaa g g?

A
9;’ E
B
(a) DE Il BC (b) DE= BC
(c) DE L BC (d) 3T A IS T8T
27.FHEY TSI T HIT §TST - g gl
CVCRER (b) FHTTITCAT

(c) T AN HATR A G FAGTUTH () SoTe T 1S LT
28. A ABC 74T A PQR o ToIT &l AT U T &7

R

A 63 7.6
80
3.8 i3

A60° '
‘ 3 . 12 Q
(a) AABC~A QPR (b) a ABC~ARQP

.C  P- .



(c) AABC~AQRP (d) aABC~ A PQR

29. 919 #ISrT A ABC ~ A DEF & 3 39 &%t FH9T: 64 cm? 3T

121 cm? g1 If¢ EF = 15.4 cm g1, dT BC=?

(d) 11.2cm (b) 10.8 cm
(c) 9.6 cm (d)12.5cm

30.@%@%@3@@20 cm g |38 MY &9 Hr Fa1s 8ot

(a)10v3cm (b) 20 cm
(c) 25 cm (d) 20v3cm
31.A ABCH, AB=12 cm, AC= 13 cm T4T BC= 5 cm g, dT « B T F4T |19 gRIT?
(a) 90° (b) 60°
(c) 30° (d) 45°
32.9d 1 & N3t W ufdede e arel 3@ 1 41 Fgd ¢ ?
(a) T @l (b) BeF I@T
(c) (a) T (b) gt (d) 318 & HIg oTEr

33.10cm 1 & g & &1 FAR-R T97 3@13i & o T gl a7 g2
(@) 10cm (b) 20cm
(c) 30cm (d) 40cm

34.3f¢ T foig PH 0 g drel fohell g T PA, PB 987 @V 9@ 80° & 0T
T ST g, @ <POA SR § :

(a) 50° (b) 60°
(c) 70° (d) 80°
35. el g & e fov 91T g W foheelr Tuel Y@? @il S @Rl 87
(a) 1 (b) 2
(c) 3 (d) 3eid
36. 90° ha T T 3R r RFAT a1l RTIWS T ThoA 872
(a) mr? (b) mr?/4
(c) r?/6 (d) r?/8
37. g # TAAT H AT 7 cm g1 A Y 1 ST HT Al FAT gram?
(@) 10 cm (b) 12 cm
(c) 11 cm (d) 14 cm

38. 14 cm TISAT ATl el & 3H °TY I SSTS FIT 1IN Sl shg; TR 90° hI0T HAR
I 87



(@ 11 cm (b) 14 cm
(c) 22 cm (d) 16 cm
39. 10 Q#T TISAT a1l Tk e & HIS SNaT g W Teh HABIOT HaARd Sl Bl
T HTq &9 Breage &t AT worT: (1 = 3.14 FT T HIfer)|
(a) 235.5 cm? (b) 255.5 cm®
(c) 215.5cm’ (d) 225.5 cm®
40. TH BST T  JEMHR Heled il F 7 m ofe) T & a1y Ir 711 § 39 01 7
(a)77.5 m? (b) 38.5 m?
(€)99.5 m’ (d) 111.2m°



